$$\begin{array}{l} \textbf{GCE } \cdot \textbf{A'} \textbf{L} \text{ evel } \textbf{H2 Maths}\\ \textbf{Nov 2013 Paper 1}\\ 11) & \textbf{x} - 2\textbf{z} = 4\\ 2\textbf{x} - 2\textbf{y} + \textbf{z} = 6\\ 2\textbf{x} - 2\textbf{y} + \textbf{z} = 6\\ 2\textbf{x} - 4\textbf{y} + \textbf{z} = -9\\ \text{From GC, point of intersection}\\ (\frac{3}{3}, -\frac{16}{6}, -\frac{25}{3}),\\ (i) & \textbf{x} - 2\textbf{z} + 4\\ 2\textbf{x} - 2\textbf{y} + \textbf{z} = 6\\ 3\textbf{x} - 4\textbf{y} = -9\\ \text{From GC, there is no solution.}\\ \textbf{So p, q, thave no common points of intersection.}\\ \textbf{Since 1} + 2\textbf{i} \textbf{b} = (-1+2)),\\ \textbf{From Isis quadratic equation to have a solution.}\\ \textbf{So p, q, thave no common points of intersection.}\\ \textbf{Since 1} + \textbf{z} + \textbf{b} = (-1+2),\\ \textbf{T} + \textbf{x} + \textbf{c} + \textbf{x} + 1,\\ \textbf{x}^2 + \textbf{x} + 1 + \textbf{y} = 0\\ \text{For this quadratic equation to have a solution.}\\ \textbf{x} = \frac{\textbf{x} + \textbf{x} + 1}{\textbf{x}^2 + \textbf{x} + 1} + \textbf{y} = 0\\ \textbf{For this quadratic equation to have a solution.}\\ \textbf{x} = 1/2 - \frac{\textbf{x} + \textbf{x} + 1}{\textbf{x}^2 + \textbf{x} + 1} + \textbf{y} = 0\\ \textbf{For this quadratic equation to have a solution.}\\ \textbf{y} \leq \frac{6 - \sqrt{48}}{2} \text{ or } \textbf{y} \geq \frac{6 + \sqrt{48}}{2} \\ \textbf{y} \leq 3 - 2\sqrt{3} \text{ or } \textbf{y} \geq 3 + \sqrt{3} \\ \textbf{3} \\ \textbf{y} = 1/2 - \frac{1}{(1-2)^2} - \frac{1}{(1-2)^2} + \frac{1}{(1+2)^2} + \frac{1}{(2+2)^2} = \frac{1}{7} \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} = \frac{\pi}{3} + \frac{\sqrt{3}}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} = \frac{\pi}{3} + \frac{\sqrt{3}}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} \quad \frac{\pi}{3} = \frac{\pi}{3} \quad \frac$$

$$\begin{array}{ll} (p-q)x=p^{2}-q^{3}\\ x=\frac{(p-q)(p^{2}+pq+q^{2})}{p-q}\\ y=p(p^{2}+pq)+q^{2}\\ y=p(p^{2}+pq)+q^{2}\\ y=p(p^{2}+pq)+q^{2}\\ y=p(p^{2}+pq)+q^{2}\\ y=p(q^{2}+pq)+q^{2}\\ y=p^{2}+2pq+q^{2}\\ y=p^{2}+2pq+q^{2}\\ y=p^{2}+2pq+q^{2}\\ y=p^{2}+2pq+q^{2}+1\\ =p^{2}+2pq+q^{2}+1\\ =p^{2}+2pq+q^{2}+1\\ =p^{2}+2pq+q^{2}+1\\ (ii)\\ (ii)\\ Substitute x=3^{2},y^{2}+1\\ =-4^{4}+1\\ (iii)\\ z+4^{4}-3t^{2}+1=0\\ t^{2}+1(z^{2}-1)^{2}=0\\ t^{2}+\frac{1}{2}\\ z^{2}\\ (iv)\\ Area\\ =\int_{1}^{2}\sqrt{2}, \frac{1}{\sqrt{2}}.\\ (ii)\\ (ii)\\ Area\\ =\int_{1}^{2}\sqrt{2}, \frac{1}{\sqrt{2}}.\\ (ii)\\ (ii)\\ Area\\ =\int_{1}^{2}\sqrt{2}, \frac{1}{\sqrt{2}}.\\ (ii)\\ (ii)\\ Area\\ =\int_{1}^{2}\sqrt{2}, \frac{1}{\sqrt{2}}.\\ (ii)\\ Area\\ =\frac{1}{\sqrt{2}}\sqrt{3}, \frac{1}{\sqrt{2}}.\\ (ii)\\ Area\\ =\frac{1}{\sqrt{3}}\sqrt{3}, \frac{1}{\sqrt{2}}.\\ (ii)\\ Area\\ =\frac{1}{\sqrt{3}}\sqrt{3}$$



Let T = no. of days of (iii) absence from the 2 depts in 5 days $T \sim Po((1.2 + 2.7)5)$ = Po(19.5) $P(T > 20) = 1 - P(T \le 20)$ = 0.397 Let S = no. of days of (iv) absence from the 2 depts in 60 days. $S \sim Po((1.2 + 2.7)60)$ = Po(234)Since $\lambda = 234 > 10$, S ~ N(234, 234) approximately. $P(200 \le S \le 250)$ $= P(199.5 \le S \le 250.5)$ = 0.848